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EcuacionNoLineal := 2-y(x) - (diff (y(x),x) +2) —x-(diff (y(x),x))--2=0
2

(x>+2)—x(iy<x>) -

EcuacionNoLineal :=2 y(x) ( d &

Ey

Solucion = dsolve( EcuacionNoLineal)
2
Solucion =y(x) =0, y(x) = -4 x, y(x) - L x(-x+2 C1)
2 2 (_ -x+2 CI +2)
- Cl
Solucion; Solucion,, simpliﬁ/( Soluci0n3)
y(x)=0
y(x)=-4x
_ 1 (-x+2 CI)’
y(x) ) i
SolucionParticular == y(x) = (1 —x)--2
SolucionParticular = y(x) = (1 —x)2
SolucionParticularDos = y(x) = %
SolucionParticularDos = y(x) = - % (-2 —x)2
( C,— x) -2
SolucionGeneral := y(x) = #
1
(G =)
SolucionGeneral .= y(x) = C
1

Comprobacion, = simplify(eval(subs(y(x) = rhs(SolucionGeneral), EcuacionNoLineal) ) )

Comprobacion,:=0=0

Comprobacion | := simplify(eval(subs(y(x) = rhs(SolucionParticular), EcuacionNoLineal) ) )

Comprobacion, :=0=0

Comprobacion,, = simplify(eval(subs(y(x) = rhs(SolucionParticularDos),
EcuacionNoLineal) ) )
Comprobacion, :=0=0
Comprobacion, = simpliﬁ/( eval( subs ( y(x) = rhs(Solucion1 ) , EcuacionNoLineal) ) )
Comprobaciony :=0 =0
Comprobacion, = Simpli]j/( eval ( subs ( y(x) =rhs ( SolucionQ) , EcuacionNoLineal ) ) )
Comprobacion, :=0=0

EcuacionAlgebraicaUno = rhs(SolucionGeneral) = rhs(SolucionParticular)

(G =)

¢

2

EcuacionAlgebraicaUno := =(1—x)

ParametroUno = solve(EcuacionAlgebraica Uno, C, )
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ParametroUno =1, x

_> EcuacionAlgebraicaDos = rhs(SolucionGeneral) = rhs(SolucionParticularDos )

C, —x)?
T AN
1

EcuacionAlgebraicaDos =

[ > ParametroDos = solve(EcuacionAlgebmicaDos, C 1)
ParametroDos == -2, - 1 b

2
_> EcuacionAlgebraicaTres := rhs(SolucionGeneral) =rhS(Soluci0nz)
2

(¢ —x)

— -4
C, o

EcuacionAlgebraicaTres :=

> ParametroTres = Solve(EcuacionAlgebraicaT res, Cl)
ParametroTres .= -x, -x
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